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General Instructions:

(@) The question paper comprises of three Sections, A, B and C. You are to attempt all the
sections.

(i)  All questions are compulsory.

(iif)  There is no choice in any of the questions.

(iv)  All questions of Section-A, Section-B and Section-C are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section-A are two marks questions. These are to be
answered in about 30 words each.

(vii)  Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section-B are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most
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appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in section B are two marks questions based on practical
skills. These are to be answered in about 30 words each.

(xi)  Question number 37 from section C is based on Open Text themes and is of 10 marks.

HIT-HA / SECTION-A

1 et Tramy % Tifyyes B ST = o T ) 39 SRR 07 i ugsnt

An uncharged particle is found in the nucleus of an atom. Identify this uncharged particle.

2 fegda g yeanfad ol § el 9 F = geE T

What was the modifications introduced by Cart Woese, in the classification proposed by
Whittaker ?

3 e TG 370] TS T WA S fasfed 2 € s @R arelt 1w am fafem

Name the gas produced when glucose molecules breakdown using oxygen.

4 sn-fafyme sifysafe @ = sl 2

Explain, what is Organ specific manifestation ?

5 =1 voF =1 - g fafgu—
(a) R TREET & FR0 fEd ong A foemm fufas =it
(b) Feerfa & &R fordll g o o feafos i)

Give an example of each of the following :
(a) a body having potential energy due to change of shape.

(b) a body having potential energy due to its position.
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6 e w0 H T ) eaf e YR See 1 SR 82

How sensation of sound is produced in a human ear?

7 (a)

(b)

(b)

0,20 ® fade ifsT|
frfafaa wo ¥ tw-uw Ser fafan -

(i) Tsh 9T 37

(i) TgoeemoREs 217
(iiy RO a1
(v)  SUHETIE 377

Write difference between O, and 20.

Give one example in each of the following cases :

(i) Mono atomic molecule
(ii) Di atomic molecule

(iii) Tri atomic molecule
(iv) Tetra atomic molecule

0.2 T SRS 319] 1 GeAHT Ufiahferd ifeTg |
12 T SRS 19 & O B afEfda S

Calculate the mass of 0.2 moles of oxygen molecules.

Convert 12g of oxygen gas into mole.

9 fopedt 91 Y’ 1 W) W 13 ¥ 9@ Y # Frafafaa w1 vt

(@)
(b)
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(c) el qxAIfUersh HEAT SR hifa

The atomic number of an element 'Y’ is 13. Identify the following in element Y’

(a) the number of electrons
(b) its electronic configuration
() draw its atomic structure

10 e J foenera S e < fw o I A | e TE Sen T €1 39 a5 sTHeeEa g8 SR 3
T A EATEUE HraReE & iRy w1 e foet)
(@) UM %S ) W w SATHA | i ?
(b) STt wee ufeaw § fifed ot 1 = Tun SHHT AHR S FT 8 SIS @At don i 7

Radha while going to school saw that the garbage was not picked up for almost three days.

She was very unhappy and immediately wrote a complaint to the municipal corporation
office.

(a) Why was Radha unhappy about the garbage.

(b) Her friend was suffering from dysentery. Was Radha relating her illness with the
garbage and why ?

11 dier e Sidesifas U o geg di9 =R IRuieg shifed | 3

Tabulate three differences between acute and chronic diseases.

12 amifess T w1 aRam fafag den s A i) R S % AR a1 A 80 g, I A3
68 ¢ AU I T 60 g & I I MiferR e Ufhied i)

Define relative density. Give its unit. A solid weighs 80 g in air, 68 g in water and 60 g in oil.
Calculate the relative density of oil.

13 G H1 T 94 391 S Aneh fafauy 3

fardll 3 o IR AY W 100 g, WA H 75 T 9 H 70 g 21 IS H Mifarw " giewfe
B

Define density. Give its Sl unit.
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A solid weighs 100 g in air, 75 g in water and 70 g in oil. Calculate the relative density of the
oil.

14 T IR0 hl TEIAN 9 ol GI&0T &1 Fam Iy

With the help of an example explain the law of conservation of energy.

15 T W H IR 9¢d 50 W T8 5 992 gfafed dun 1 7o W TS % 9@ 10 w9 gfafea swem
fre s &1 30 & # ww wEW A SugEd fawielt % gfe wfenfaa sifs)

In a house 2 bulbs of 50 W each are used for 5 hours a day and two 70 W fans are used 10
hours a day. Calculate the units of consumed in a month of 30 days.

16 orpom w0 #2 o8 b vER w9 fRa W1 wEal 27 @i w @ e $ 9 s fate)

What is reverberation. How can it be reduced? Give two applications of reflection of
sound wave.

17 (a)  afvess S o s 9fomm €2

(by Tl <ffw 39 BRw A9 % A fafew)

(a) What are the consequences of global warming ?

(b) Name any three greenhouse gases.

18 ()  AE-TTIER T w1 T ITEN &7
(b) a9t % I H e F w07 qen e Tt ol w1 P e 2

(a) What is the use of a rain-gauge ?

(b) What is the role of dust and other suspended particles in the formation of rain ?

19 (@) T fU U 3Tl % WASH 9 A A 9t Al & et g fata
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Ca?t, k*,Fre3t, 7, 50"

(b) TR Wl HIeR S0 14y § RIS o1 Teh 9XTY] ZeqHH T § Toha1 amm 2

(a) Write chemical formulae of all the compounds that can be formed by the combination of
following ions :
Ca?t, Kkt Fe3*,Cl7, 50"

4

(b) Molar mass of nitrogen is 14u. What will be the mass of one atom of nitrogen in grams ?

20 fag Wi fF o AR () wE

Prove that Labio Rohita (rohu) is a chordeta.

T2 71 I/ TR T SR FReBI O SIS

(2)  THemey oty (b)  SARS

(0 R (@) qed

(&)  AIDS (f ST

(g)  wen (hy R
@) = G R

Associate the following diseases/infections with their causative agents :

(a) Sleeping sickness (b) SARS

-— ©) Kala-azar (d) Acne
(e) AIDS (f) Dengue fever
(8) Malaria (h) Brain fever
(i) Chicken-pox ) Polio

22 YO g < gftefa sy
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TUIE qeN S| H HrE wfid s aren e ga fatau

TF URe i g fafau)

500N 9R & Th T g oMl T < Ufiehfad FIfe afs g &1 g8 eFwd 2.5 cm2
3

Define thrust and pressure.
Give the mathematical formula that relates thrust and pressure.
Define 1 Pascal.

Calculate the pressure exerted by a block of weight 500 N if the surface area in contact is 2.5
cm?,

23 @) @ w1 9w fafau fre w9 w1 o1 e fafgw gTes @ % fau e S
ferfiam)

(b) Tk TEN & 50 m 1 U a6 Yo A UEU & faeg @A W Sl 250 N ¥, fEAr T
F siwfan i my & F6@ F1 R o s sy

() A% foreht =g 1 foreenw™ =@t w1 fawn & onwed B, @ fer T wE wm o ?
(d) 519 SIE o e v R faeier € df fEe e e fean g 2

(a) Define work. Give SI unit of work done. Write an expression for positive work done.

(b) Calculate the work done in pushing a cart through a distance of 50 m against the force of
friction equal to 250 N. Also state the type of work done.

(c) What will be the work done, if displacement of the object is perpendicular to the direction
of force ?

(d) When an object moves on a circular path, what will be the work done ?

24 (a)  wHEA f Al & foe sief 4 Aege fRe ver et €2 5
(b) T TGHYI % FE A wrvl fafed st v @ wiiw | weeed |
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25 @ F e & FEE w7 gfud R F T o YA T T Ul i e At gl 1
e :
(a) 2cm (b) 5cm (o) 50 cm (d) 200 cm
In performing an experiment to verify the laws of reflection of sound the length of the tubes
used is preferably :
(a) 2cm (b) 5cm (© 50 cm (d) 200 cm

26 @Rl A el TS % S WA gU E, o ww & did W dgfea e ot 8 g g € et B 0.5
cm B 3 S 55Kg B 1 e g AT TRl TR @ e g
(a) 700x104 Pa (b) 500x10% Pa
(c)  450x10%Pa (d)  250x104Pa
Khushi is wearing high heel shoes, she balances on a single heel. The heel is circular with a
radius of 0.5 cm. Her mass is 55Kg. The pressure exerted by the heel on the horizontal floor is :
(@)  700x10% Pa (b)  500x10%Pa
(<) 450x10% Pa (d)  250x104Pa

27 v HE w93 e fafere fewn & waf@ @d @ @ 9 Sifdw vfa o fag @ @ fag 9w
TETE et ¥, o T
(a) U1 (b) FAHM () S (d) Sl
When the pulse moves in a specific direction the physical quantity which is transferred from
one point to the other is :
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(a) Explain why are root nodules useful for the plants ?

(b) List any three causes of "Water Pollution” and briefly explain each of them.

HIT-o/ SECTION - B



(a) particles (b) mass (c) velocity (d) energy

28 R TH SEIEES ¥ 39 a2 F1 gie FE o aev s 1
(@) T F sfaafe wR St derw weem R
(b) T IS TeSeeH qon <o) uwer 61 gu Foga 1 faamm 3
(c) I, gl Tom sy umer fohe gu BN |
(d) A

Moss is a bryophyte. The feature that confirms this fact is :

(@)  undifferentiated plant body called thallus

(b)  presence of false roots rhizoids and spore bearing capsule
(c) true roots, leaves and spore bearing sori

(d) naked seeds

29 5.3g e o1 6g Hifgam HEiAe & HY WA Fh 2.2g HIfETH TIANTE, 0.9g FeE SF 1
ATFEE AR F© S s & | afg Tattw sfafwa & foa ger weron w1 faw 9o @ | ura
Sl 1 T B

@) 820g (b) 802g () 80g (d 08g

5.3 g acetic acid combines with 6 g sodium carbonate to form 2.2 g sodium ethanoate 0.9 g
carbon di-oxide and some water. If the law of conservation of mass in a chemical reaction is
true, then find the mass of water products.

(@) 820g (b) 802g (c) 80g (d 08g
30 fora werr =t arfuforanetl W geaum wXaor &1 frem on) T S e A € 1
()  efeEe SAfufRa (by  Refm At
(c) TRt sAfafRa (d)y  fowemam sfufwan

Law of conservation of mass is not fully applicable for :
(a) Precipitation reaction (b) Redox reaction

() Nuclear reaction (d) Displacement reaction
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31 < i sifrersr € 9 Wl & fo e E-
(a) TR STgd=
(b) it e
(c) TR ferufe=ama

(d) SfererTer ferafer=rg

Broad leaves are characteristic of plants with :
(a) fibrous root system

(b) trimerous flower

(c) parallel venation

(d) reticulate venation

32 TR s fgfeest @ frer s W aifed e S g
(a) Ta% s o des w1 gen
(b) TRT T wfeal w owpa
(c) ol = Wt wEfa
(d) IR T T F1
- Monocots and dicots are classified on the basis of :
(a) number of cotyledons in seeds of plants
(b) nature of leaf in plants

(c) nature of root in plants

(d) all of the above

33 o @i T e X a9y 1 9E i € -
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(@) X : YoIE Al ; Y - =g 3
(b) X : YoEA AfCTHT ; Y - YA AR
(c) X : YAl &AM ;Y - e Al
(d) X :awEE Y - vaed Aferr

The correct labels for X and y in the diagram drawn below are :

(a) X : respiratory siphon, y : air floats
(b) X: respiratory siphon, y : tracheal gills
(c) X: tracheal gills, y : respiratory siphon

(d) X : air floats, y : respiratory siphon

34 3cm o A IR % O AT FEHE FAMCR GO R AR HEN T 1 AR AR H G AN 85 g 2
CC~1 % 31 *1 YR I F % e ffm sieqaien s FHHIRR e Hud Suge B ?

The mass of a solid iron cube of side 3 cm is to be determined by using a spring balance. If the

density of iron is about 8.5 g CC~1, What should be the least count of the best suited spring
balance to determine the weight of solid ?
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35

YT i HRON W AR 1 fo T foemadi | @1g awg qon srean gen ? 2

Tere T g fcm3
Tefas 07

A 19.3

S 113

TR (TRT) | 136

Taf (o) | 0.87

wifeTn 214

T RIS :

() w0 EE H TS ARY (TR) F g S ?

(i) N wifeTH 1 Toher AHRi W w2

(i) @ JuftRa o1 TR dieE | g| smom ?

(iv) AT 1 THS WHU (IR) | T w2

Based on the table of densities, whether the object would float or sink in the following solution ?

Material Density g/cm3
Gasoline 0.7

Gold 19.3

Lead 113

Mercury 13.6

Paraffin (wax) | 0.87

Platinum 214
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(¥

(ii)
(i)
(iv)

Find :

Will a bar of gold sink in mercury ?
Will a piece of platinum float on gasoline ?
Will a block of paraffin sink in gasoline ?

Will a piece of platinum sink in mercury ?

36 TIgeTH

HE | war-ud Siqeti w2l a1 saaaril st g= g |

Enlist any two characteristics which are present in animals which belong to phylum chordata.

(* Plea

HRT- A /Section - C

se ensure that open text of the given theme is supplied with this question paper)

37 Theme-I (Clean Air-A shared Concern): (5+5)
(a) FT SEHTEARE TH UGUH §1 09 YA W SET % Ioeiiadr & fod wee sReieans
HAeeeE i 87 Sl gl & e <69 § aAved H sTAfu® WM H qER CO, %
gftoreey uftae w1 91 fofed ) 3 afteeT & oE < 9ftoms fafed

(b) T YT HTRER FI M TELIA ARG (A=) a1 WEEO % HRE0 el T
ST @ 31 39 SHRA 1 AH fafEd| ug urd W sl e €7 gHe o™ A
gl *1 AW fafed st ag gew & fa sawErEh € uueEd 3 wEue 3aRa
&l forg g den Y @ 7

(a)

(b)
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Carbon dioxide is a pollutant. Then why is it necessary for the survival of life on earth
? Name the phenomenon which is the result of excessive release of CO, in the

atmosphere due to excessive burning of fossil fuels. Write its any two consequences.

A white marbled domed monument is turning yellow due to air pollution. Name this
monument. Where is it located in India? Write the three neighbouring sources
responsible for air pollution and explain how these pollutants are turning the

10




monument yellow?
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